HUR(L) &% — HEHEATEII

fEENFRIERELT BB ITER A

O RNEB4IEE |
H
\
i H
|
I
|
(D\
D ESEEES
=y =| £ = (mm) @25 @32 \ @40 \ @50 263
1EENZ R BEh
R BIREZIZAEREIM(1SO - VG 68)
RaBh kgffem? (MPa) 100 (10)
EREBHEE kgffom? (MPa) 5~70(05~7)
BEg1THE mm 9 1 13
TEITI2 mm 13 15 17
HREME [resi]
EEAE 90*2"
ird Lyl k8 (RARL) - L ; A8 (BE[EA) -R
CEER
F g @25 @32 @40 @50 @63
BEE 13 1.7 2 3.2 5.1
CEIETMIEAS
HU R MC — 25 X
1 2 3
5B % AR B X L AR
25 - @25 mm
32 - @32 mm
40 - G40 mm
50 - 50 mm
63 - 63 mm

L: RFEBEFERNX
(REAXE)

R: ®RRABEEERN [MC: B ER#RB RS
(FRERA)
#90 BIZEFEARE

%0 451 60 BIFATERES

1Ti2ZR FEITZ
EETTIETEIE

@225 -
232 -
240 -
@250 -
263 -

13 mm
15 mm
15 mm
17 mm
17 mm




HUR(L) &% — hEZ#E A TEE
SNERER R

O HUR(L) @25 ~ @63

=\ {B\",/
‘ K 4oL P 4-0L
J K
J
Gl
F, N ‘ G2
‘ 1
I : I -
| T i | - | |
E1 | | =
Lo L K C____ ‘ ,,,,,,, _ i
o & ) 2
_ E2 ! - <
! < | b
2 ‘ o < i o <
MM 7
~ W ! q ‘ +INM o
g !
| |
| < |
N1 ”ﬁ“ 2l
|
o] ‘ ]
| #Ei0] || B
T 1
s | mammzmry
- . - o = = HmRRFN x
HE | mE | wegE | =&0E il ) BRRE
(mm) (mm) (mm) BRI mm? | (3.5MPa) G1 G2
@25 218 9 13 491/ 237 830 74 140
@32 @20 11 15 804 / 490 1720 81 160
@40 ©22.4 11 15 1257 / 863 3020 86 160
@50 @28 13 17 1963 / 1347 4710 96 180
263 @35 13 17 3117 /2155 7540 14 200
41 1® ST A Al A2 | A3 B c D1 D2 D3 D4 E1 E2
@25 22 79 101 | (124) | 120 76 27 15 27 15 |019 |M10x15 | o8
@32 26 89 115 | (140) | 137.2 | 85 30 17 31 17 |022.2|M10x1.5 | o8
@40 26 94 | 120 | (148) | 1422 | 90 30 18 31 17 |O22.2|M10x15 | @10
@50 30 104 | 134 | (166) | 159.4 | 100 34 20 37 19 |[025.4 | M12x1.75 | @12
@63 30 109 | 139 | (175) | 170.8 | 105 34 23 48 24 |(31.8| M16x2.0 | @15
1 1R F H | J K L M N | N1 | N2 | N3| O P | R | s T
@25 10 9 | @46 | 52 | 40 |@68| PT18 | 50 | 8 | 17 | 46 | 95 | 25 | @15 |@18 | 13
@32 10 | 10 | @50 | 56 | 44 |@6.8| PT1/8 | 55 | 10 | 19 | 52 | 111 | 29 | @17 |@20 | 14
@40 10 | 10 | @54 | 63 | 48 |@9 | PT1/8 | 60 | 12 | 19 | 57 | 11.1 | 31 | @19 |@22.4]| 15
@50 12 | 12 | @66 | 72 | 57 |@9 | PT1/4 | 65 | 15 | 21.5 | 635 | 12.7 | 38 | @21 |@28 | 16
263 15 | 15 | @80 | 88 | 70 |@11 | PT1/4 | 75 | 17 | 22 | 68 | 159 | 48 | @27 |@35 | 18




HUR(L) &% — ;HESE A TEEL onmsemenn)

SMERER R
BT
O HUR(L) _ MC#! ® o 38 B A AU
- ﬁi%?ﬁiﬂ @ Zlﬁgﬁiii
5 4 i i
o 7 e —
P 7 & &
8l &, @) /8l - ‘ EEEE 3l 3 « -
e - FENY o
I'® | [ loﬂ;/ i
=\ L$\K€% ! =\ IR
M1 4-@L 0 M1 4-@L
z
K s
J
‘ Min.5
G1
F N ‘ ‘ G2
1 | |
Hey : o
' s 10 & = ‘ N 3
| | ° vl
| | |
E1 | |1 % : \ Pl
| I [ L N ] )
i i
i E2 i 2
| g ¢ | 2
i o < | o <
@G ih ‘ o o
MR W B0 B
. R T
o O-Ring »u 0O-Ring
4]} ‘ ‘ { o] ‘
o110 [ 3
| e
S | BiBmIRT R
p . . - =S HRESFN 3
HE | wmE | wWeEE | BEGE et ) EHRE
(mm) (mm) (mm) a mm? | (3.5MPa) G1 G2
@25 218 9 13 491/237 830 74 140
@32 @20 11 15 804/490 1720 81 160
@40 @224 11 15 1257/863 3020 86 160
@50 @28 13 17 1963/1347 4710 96 180
263 @35 13 17 3117/2155 7540 114 200
= ST A Al A2 A3 B c1 D1 | D2 D3 D4 E1l E2 | E3
@25 22 79 101 124 120 76 22 15 27 15 [019 |[M10x15 | @8 |M14x15
@32 26 89 115 140 | 1372 | 85 25 17 31 17 |O222|M10x15 | @8 |[M16x1.5
@40 26 94 120 | 148 | 1422 | 90 25 18 31 17 |0222 |M10x1.5 | @10 | M18x1.5
@50 30 104 134 | 166 | 159.4 | 100 30 20 37 19 | 0254 |M12x1.75] @12 | M20x1.5
@63 30 109 139 | 175 | 170.8 | 105 30 23 48 24 |[031.8|M16x2.0 | @15 | M26x1.5
TR F Gl | G2 | H I J K L [M1]| N O | O-Ring P R S T
@25 10 74 | 140 | 9 | @46 | 52 | 40 | @68 | 19 | 50 | 95 P7 25 | @15 | @18 13
@32 10 81 | 160 | 10 | @50 | 56 | 44 |@6.8| 21 | 55 | 11.1 P7 29 | @17 | @20 14
340 10 86 160 10 @54 63 48 | @9 23 60 111 P9 31 219 | @22.4 15
@50 12 96 180 12 66 72 57 | @9 28 65 12.7 P9 38 @21 | @28 16
@63 15 114 200 15 @80 88 70 | 911 32 75 15.9 P9 48 @27 | B35 18




	3.0-B_部分810
	3.0-B_部分811
	3.0-B_部分812

